Efficiency vs hit

fake+duplicates vs hits

o 1.2 a0
= [ '.EO 8:
g r 2018
< e M @ereaans w E.
eI gO16F
£ L %] -
E (K| R R PR PR TR SRR T %0'14:
o [ 1] F
L £0.12F
[ S o
0.6 S 0.1
L + E
- Q -
L 50.08F
0.4_— 0.06F
0.2~ 0.04p
[ : : 0.02F
o w0 i | A o Lafs
g l l . {l u & HOF
= HEHT RIS HTH B ¢ - - - - - PR -
il b
0.955 l . . 0.95
0 10 20 30 40 50 60 0
TP hits track hits
—=— DQM_original_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquare5_step2_tthar-phasel-newgeom
| Efficienc] DQM_pixelCPETemplateCutChiSquare5Test_step2_ttbar-phasel-newgeom
[4) 0.5p o 0.2p
[ E [ o
5‘0.45:— 50.18 E
£ o4f £0.16F
> E Q E
Q E -
$ 0.35F ©0.14F
8 E 3 E
£ 0.3E _8 0.12 E
0.25F S 0.1F
E =1 o
E S o
0.2 $0.08F
E =< F
0.15F £0.06F
0. 0.04F-
0.05F ; ; 0.02F
o w0f i ! o OF
& _++_ S 1osf
s AT TR |
+ 1E
°%% 5 1015 20 25 9% 5
TP layers track layers
Efficiency vs pixel layer [ fake+duplicates vs pixel layers |

0.8

0.7

0.6]

0.5

0.4

efficiency vs pixel layers

0.3]

0.2]

Ratio

4 5 6 7 8
TP pixel layers

Efficiency vs 3D layer

0.5

0.45
0.4

o
O w
w O

o
9]
>
8
[a]
)
1’4
>
>
o
c
Q@
o
&=

£0.25
0.2
0.15,
0.1
0.05

1.8

Ratio

T

———

T

6 8 10 12 14 16 18 20
TP 3D layers

4 5 6 7 8
track pixel layers

[ fake+

duplicates vs 3D layers |

0.
0.18

D layers

®0.16
1)
>

ate

tes

0.1
20.08
k=l
$0.06
£0.04
0.02

+duplical

ak

10

Ratio

1.1

E-- #L...!......-‘- ~|----

0 2

RN 4 T
4 6 8 10 12 14 16 18 20
track 3D layers



	Contents
	Page 1


